run_13063063 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Mar 3 19:43:22 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13063063 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13063063 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13063063 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13063063 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 19:45:24 2012
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run_13063063 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 19:45:59 2012
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run_13063063 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Mar 3 19:43:35 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 19:45:25 2012
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run_13063063 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 19:46:00 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Sat Mar 3 19:43:39 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13063063 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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Sat Mar 3 19:44.03 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
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Sat Mar 3 19:44.05 2012
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run_13063063 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Mar 3 19:44.08 2012
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run_13063063 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Mar 3 19:46:09 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

1

RMS (ADC-ped)

00 [
80 |-

60 [+

20 [

20 -

|

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

1
120
APV channel

i
120

APV channel

i
120
APV channel

=
2
9]
o
)
12}
=
'3
[ ADC RMS for RDO=1,ARM=3,APV=14 "}
g =
-3 60
Q
[a}
<
%] 50
=
o
40
30
20
10 [
0
[ADC RMS for RDO=1,ARM=3,APV=15 _}
g 45
i
8 40
<
2 35
['4
30
25
20
15
10
5
0
[ADC RMS for
=
2
9]
o
)
12}
=
'3

i
120
APV channel




run_13063063 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Mar 3 19:44:12 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
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[ADC for FGT RDO=1,ARM=4,APV=0 }

ADCyged

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

ADC-ped

1000

Shill
3000 4000
raw ADC

2000

[ADC for FGT RDO=LARM=4APV=2 }

ADOzped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

ADCApeg

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=4,APV=4 l

ADC-ped

e
2000

1000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

= 4000 p—
] =
& =
Q 3500 f=—— - - - -
< =
3000 f=—--- -
=
2500 f=— - -
=
2000 f=——--- -
=
1500 f=—- - - -
1000 p=—- - - -
=
=
500 pm——----
=
=
ofg—--
= i i i i i i
0 20 40 60 80 100 121
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=2

S L P RO P -1

- I TR P gt

= ;

I R S R R S

= .

= R S N -l

= 5

T (R B aqata A

= H

= .

Eodocnfasens boo&ljonoacsos sllol

= . i . . L . . i . i . . . i . . . i

0 20 40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENNTERIAGNATGRAAGNATGRARRIATENATRNATENAR]

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=3

4000

3500

ADC-ped

3000
2500 f=
2000
1500
1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500
2000

1500

1000 e

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

0 L L . A

10

10

10"

10

10

10°

10

10




run_13063063 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13063063 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 19:46:11 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 19:44:17 2012
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run_13063063 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 19:46:12 2012
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run_13063063 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB

Sat Mar 3 19:44:19 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 19:45:38 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 19:46:12 2012
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run_13063063 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 19:44:23 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 19:45:39 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 19:46:13 2012
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run_13063063 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 19:44:26 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 19:45:40 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 19:46:14 2012
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run_13063063 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Mar 3 19:44:30 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

o

3

5

Q

[a]

<

10
i :
2000 3000 4000

raw ADC

[ADC f

o

3

[

Q

=]

<

10

Shill
3000 4000
raw ADC

ADCApeg

I
3000 4000
raw ADC

i
2000

[ADC for FGT RDO=2,ARM=0,APV=8 }

ADC-ped

3000
raw ADC

4000

ADC for FGT RDO=2,ARM=0,APV=9 l

ADC-ped

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]m |r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

0

ikl

APV channel




run_13063063 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 19:45:42 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 19:46:15 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13063063 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13063063 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD

Sat Mar 3 19:44:55 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Mar 3 19:45:49 2012
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run_13063063 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Sat Mar 3 19:46:22 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

350 f= H : bosossoosososl|oosossd fooooscoosoancoscs000ad e eaeaanaan e

300

RMS (ADC-ped)

250 [
200
150

100 8 g g > o B o00000000a00000000000d hocososa

50 : : : T pe 3 SRR Ry R

T
0 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

350

300 |

RMS (ADC-ped)

250
200
150 5
100

50

i 1
° 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}

=
54
-3
%) 60
a
<
I
2 50
3
40
30 f=
20
10
0
APV channel
[ ADC RMS for

180
160

140

RMS (ADC-ped)

120
100
80
60 f=

40

20

i . . . i
100 120
APV channel

0




run_13063063 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD

Sat Mar 3 19:44:59 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Mar 3 19:45:50 2012
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run_13063063 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD

Sat Mar 3 19:46:23 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 3 19:45:02 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 3 19:45:51 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 3 19:46:24 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Sat Mar 3 19:45:06 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 3 19:45:53 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 3 19:46:25 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Sat Mar 3 19:45:09 2012
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run_13063063 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD

Sat Mar 3 19:45:54 2012
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4CD
Sat Mar 3 19:46:27 2012
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run_13063063 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Sat Mar 3 19:45:11 2012
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run_13063063 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD
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run_13063063 FGT_RMS 1,Timebin=2,Disc=4,asmb=4CD
Sat Mar 3 19:46:27 2012
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run_13063063 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 3 19:45:15 2012
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run_13063063 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 3 19:46:28 2012
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run_13063063 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Sat Mar 3 19:45:16 2012
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run_13063063 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 3 19:45:55 2012
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run_13063063 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 3 19:46:28 2012
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run_13063063 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Sat Mar 3 19:45:20 2012
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run_13063063 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5CD

Sat Mar 3 19:45:56 2012
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